Relations Inverses (1)

11 x6=066
6x11=_
66+6=_
66+ =
8 x9=72
Ox =72
+9=8
_ +8=9
8 x 8 =64
§x =64
_ +8=38
64+ 8 =
6x7=42
Tx6=_
2+ =6
5x5=25
_ x5=25
25+ =5
+5=5

Remplissez les espaces blancs.

6 x 9 =54
Ox =54
_ +9=6
54+ =9

8 x 8 = 64
_ x8=64
_ +8=8
64 + 8 =

7x5=35

S5x =35
35+5=__
= T7=5

9x 9 =8l
x 9 =8l
81+9=

11x5=55
5x11=
55+
55+ 11=

I
[
[E—

7x5=35
5x 7=
35+ 5=

35+7=_

8 x 7=56
_ x8=56
56+7=_

5x5=25
5x =25

25+5=_

§x9="72
x8=172
72+9=

8 x 12 =196
_ x8=96
+12=8
+8=12
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Relations Inverses (I) Solutions

11 x6=066
6x11= 66
66+6= 11_
66+ 11 =6
8 x9="72

Ox 8 =72
72 +9=38
72 +8=9
8 x 8 = 64

§x 8 =64
64 +8=8
64+8= 8
6x7=42

Tx6= 42
2+ 7 =6
42 -6=7
5x5=25

5 x5=25
25+ 5 =5
25 +5=5

Remplissez les espaces blancs.

6x9 =54
9x 6 =54
54 +9=6
54+ 6 =9
8 x 8 = 64

8 x8=64
64 ~8=8
64+8= 8
7x5=35

5x 7 =35
35+5= 17
35 +7=5
9 x9=28]

9 x9=8]
81+9= 9
81 +9=9
11x5=55

5x11= 55
55+ 5 =11
55+11= 5

7x5=35
5x7= 35
35+5= 7
35+7= 5
7x9=63

9x7= 63
63 +9=7
63+ 7 =9
10 x 7 =170

7 x10=170
70+7= 10
70+ 10 =7
5x7=35

7x5= 35
35+ 7 =5
35 +5=7
7% 6=42

6x 7 =42
2+ 6 =7
2+7= 6

8 x 7 =56
7 x8=56
56+7= 8
56 +8=7

6 x 8 =48
8 x6=48
48 +8= 6
48 +6=8

5x5=25

5x 5 =25
25 +5=5
25+5= 5

8 x9=72
9 x8=72
72+9= 8
72 +8=9

8 x 12 =96
12 x8=96
96 ~12=8
96 +8=12
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